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JlenbHuu)




PewwnTe ypaBHeHMUA:

5% =125

10* =1000000




Pewnte ypaBHeHMUA:




PewwnTe HepaBeHCTBaA:




MeTton

IIPUBEJICHUS K
OJTHOMY

OCHOBAHHIO

MeTton BBeJieHUSA

. . POyHKIIMOHATBHO=
HOBOM [IEPEMEHHOMN

rpauuecKuii METOI

MeToa mo4JIEeHHOTO

ACJICHU



4* = 5 —X




MeTon ypaBHUBaHUA NoKa3aTesnen

57X=2,5 — §x—1,5.
Tx —-25=x-1,5;

6 x=1;

1
*T 5




MeToa BBeaeHUSA HOBOW
nepemMeHHOU




MeToa MOYJIEHHOI'O J1eJICHUSA

t“+t—2=0;

ty = —1 — He ygoBJeTBOpSET
ycaoButo, t > 0.




Pemure ypaBHeHHe \




OTBETDbI \

-2:-1; 3.







Pemenue 3aganuii EI'D (‘IaCT\C)

25x—1 , 34x+1 . 73x+3 — §)4x—2







Cnacubo 3a ypok!




